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el SoE AT U HEE B (B9 ®R)
- RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
3| Hl ot 1,572,897 2,705,300 N 1,132,403
EHolD 2HEUNE JHEN SE 1,514,513 2,635,900 N1,121,387
SYE AT L Fas Za 81,948 74,972 6,976
HEs A& Ha 15,912 15,912 0
201 2Et2Hy| 14,472 14,472 0
01 AP 2t 2] H| 10,512 10,512 0
Ogtt4L2H| 2,530
OXNESYUMN INsEHED) B 2,530
- A 33,000& = 30BfA 990
-cg 154,000& = 10MIE 1,540
OHHAD U DT BT L2
25,0008 « 2= * 140%¥ 7,000
O2MLD L AIRA ZI/HAD| X =
40,9008 = 204 ~ 12& 982
02 222494l 3,960 3,960 0
03322 % HA 3,960
O HZAHZ2R2S MEEE S
22,0008 = 180™H 3,960
202 044 1,440 1,440 0
01 2L Y| 1,440 1,440 0
OYHYPXNE - EH =& 4]
20,000 * 3% x 32 x 83 1,440
N HZES 3 H 24 66,036 59,060 6,976
101 2121 d| 15,311 8,335 6,976
04 JIZtHIZ22XNSE S 15,311 8,335 6,976
OLM L NEYR AR
51,8008 « 19 262 = 10€ 13,468
O0=20HZ2 2= 13,468,000& * 4.5% 607
orns8Eg= B2 13,468,000 = 1.5% 203
ONH Ml BEMaEEE 2242
13,468,000 * 1.42% 192
OR0IAYBEE 2YI
13,468,000 * 3.06% 413
OIRABEE 242 413,000& * 6.55% 28
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23,000,000& * 13| 23,000
202 o4 H| 1,600 1,600 0
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ONYR =T U FSHD HA Ot
20,0008 « 29 * 4L « 103 1,600
203 R F & 1,000 1,000 0
03 AIZH =& 25 X H| 1,000 1,000 0
OZ24 & FAH g2 =X 1,000, 000& 1,000
HOE A< 408,254 584,266 AN 176,012
= 23 Fo2el 67,236 89,513 N22,277
201 LBt ]| 49,956 54,243 N4, 287
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OXetyelg #X 2 A5 HA R0
10,0008 * 1605 1,600
OMALST S8 =2 330,000& * 53| 1,650
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2453 « 1700 = 2,50004 10,413
—S2EACAAE IHE HE EHD
1,174& = 5,0004 5,870
—SEACAAE AXHY ] Y
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HE - B (3H) - KISAY - BYS il HImEET
ERTHL 22| 29F 14,000 11,670 2,330
201 £B-2d| 14,000 11,670 2,330
01 At 22l 14,000 11,670 2,330
O RMHE AL 22 14,000
OZZEI=s=E 200,000& = 102X 2,000
OS7M =2 600,000& * 6E X 3,600
OE|M& X2l 500,000& * 63l 3,000
Ogstatel =2 250,000& = 12& 3,000
O&Jjzel W2 200,000& = 12& 2,400
HY2AZ Yl (3 H D) 58,384 69,400 A 11,016
JlE3l 58,384 69,400 A 11,016
JlE2&l 58,384 69,400 A 11,016
201 L4l 26,104 25,100 1,004
01 At 22l 26,104 25,100 1,004
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